Astro Pneumalic Model: Product Type:

. Tool Compan
372 01d US wgh;;%%z SOH TS1 2 HYDRAULIC PRESS - 12 TON
Mount Airy,

Call 1.800.221.9705 for questions concerning performance of the product

PARTS BREAKDOWN

or other inquiries.

4= ; i
— i ! . VE_
i b ] D
]
-:Eg i 4 i
7o : AR o : 2
1 | ~ T A i |
N\ 6 ilp | I |
|
! | R T
! : 9 ) !
1 | I |
I ! |
| ! : |
| !
| | ! i
1 ' , 1
: 1 10 —10 \ :
: l11 J ( !
i
I ; :
| A 14 ! e
113 '
2 q S P ‘
8 N @ ! I 1 (]
! i
1 ! (
NC{D i |
\ ! ; ! \ S
4 ! | -
o T o
g
& o
q
O

Parts List
No.| Part No. Description Qty No.| Part No. Description Qty
1 | TS12-A01 Side Frame 2 12 | TS12-A12 Press Template 1
2 | TS12-A02 | "R”Pin 2 13 | TS12-A13 Nut M8 2
3 | TS12-A03 Support Pin 2 14 | TS12-A14 Steel Template 2
4 | TS12-A04 Upper Frame 1 15 | TS12-A15 Leg 2
5 | TS12-A05 Nut M12 8 16 | TS12-A16 Lower Frame 1
6 | TS12-A06 Spring Washer 12 16 17 | TS12-A17 Bolt M10 x 30 4
7 | TS12-A07 Bolt M12 x 35 8 18 | TS12-A18 Bolt M12 x 25 8
8 | TS12-A08 Spring 2 19 | TS12-A19 Leg Brace 4
9 | TS12-A09 12 Ton Hydraulic Jack 1 20 | TS12-A20 Nut M12 8
10 | TS12-A10| Eye Bolt 2 21 | TS12-A21 Spring Washer 10 4
11 | TS12-A11 Jack Plate 1 22 | TS12-A22 Nut M10 4

Page 1




